Unit 1, Station 1, Round &,

Task 3
‘jlh Four Digit plus Four Digit Addition Name:

Solve each problem. Answers

1) 7817+2.736=

2) 5402+ 1,860 =

[ £

3) 9936 +9.641 =
4) 9506+ 2.707 =

5) 5672+3975=

6) 7,744 + 3,644 =

7 3473 +2.282=

8) 9324 +5844 =

9) 5,885 +5450=

10) 8779 +2.408 =

1) 8,084 + 1,189 =

12) 7730 +6,152=

13) 4328 + 4,261 =

14) 4,599 + 2,680 =

15) 7471 +6,919 =

16) 7.534 + 6,900 =
17) 9440+ 4,775 =

18) 7517+ 5,308 =

19) 3,591 +2,085 =

20) 1,967+ 1,851 =




Unit 1, Station 1, Round 3,
Task 8

E:L 4 Digit Minus 4 Digit Name:
Use subtraction to solve the following problems. ANSWErSs
1.
) 1,533 ) 7,679 3) 2,884 9 1,656
-1,317 -5,785 -2,185 -1,613 2
4.
5 5,661 6) 7,420 D 8,359 8) 2,088 >
-1.613 -7,167 -2,073 -1,356 5
7.
&
%) 9.811 10) 7,256 1) 3,630 12) 5,903 ?.
-2,816 -3,740 -1,562 -1,587 .
11.
12,
13) 40,008 4) 90,007 15) 10,007 16) 10,006 13.
-34.596 -14,811 - 6,082 - 5,498
- - - - 14.
15.
6.
17) 80,005 18) 70,002 19 90,006 200 60,005 17.
-16.,666 -66,514 -79.,244 -13,046

18.

19.



